HENTT  BENELEC 2 TS

Innovative Radio Technology

PART NO: 02811
DATASHEET

PARALLEL BRACKET, GALVANISED
BASE STATION ANTENNA MOUNTING HARDWARE

CONTENTS
MATERIALS
= 3 Vee Blocks
Galvanised Steel = 1150 mm U bolt M8
= 2 Flat Washers M8
SIZE = 2 Spring Washers M8
= 2 Nuts M8
Mounting Pole and Antenna Mounting Tube
Min OD: 20 mm PACKAGING
Max OD: 60 mm
Total OD 2 Poles: 90 mm Max 1 per pack, 230 x 1100 polybag G.W.:0.3 kg

Bulk 40 box 240 x 240 x 250 mm G.W.: 12 kg

BENELEC.COM.AU

A Benelec Pty Ltd. 17 Byrnes St, Botany NSW 2019, Australia, +61-2-8397-3333, +61-2-9700-1231, % reception@benelec.com.au 2021-11-29
[~


http://www.benelec.com.au/
https://goo.gl/maps/V4tH1z4EXZq
https://goo.gl/maps/V4tH1z4EXZq
mailto:reception@benelec.com.au
mailto:reception@benelec.com.au

